Space List	Na				total mat			heesewaat
5/22/03	No.	capacity/			total net		notes	basement
		room	total	room	s.f.	category		possible?
Academic lobby		2		1,500	1,500	1,500		
Presentation/Performance space	1	200	200	3,000	3,000	4 400	flat floor, raised	l etago
lobby/entrance	1	200	200	0,000		4,400	merge w/ acade	
Stage & backstage	1			1,000	-		reduce??	
Control Booth and Light Locks	1			300	300		\$\$ fo requipt	
Green room	1			100	100			
Classroom Space					-	2,560		
Classrooms	1	60	60	960	960		dividable?	
Seminar Rooms	2	30	60	600	1,200			
AV Storage	4			50	200			
Furniture Storage	2			100	200			
Faculty/ advising/ conference offices	6			100	600	600	flex w/ study ro	oms
Resident Entry Lobby & Mail	1			2,500	2,500	2,500		
Area Desk & Mail Services	1		-	1,500	1,500	1,500		
	- 1			1,500	1,500	1,500		
Apartment	1			800	800	800	was 650	
Mail Lobby & Lounge	1			0	0	0	merge w/ res. e	entrance & lobby
					-			
Recreational Services				100	400	2,400		
Television Room	1	-	1	400	400			
unprogrammed space (1 per res. group)	3	00		300	900			yes
Music Practice Rooms (modular system Study Rooms	? 6	??		500 100	500 600		multiple units	yes
Opto					0.500	0.500	waa 1 500	
Cafe	1				2,500	2,500	was 1,500	
Dining and Food Service complex						0		
Kitchen & storage (est.)	1			0	-			
Seating (est.)	1			0				
Loading	1			0	0	0		
Building Service						1,750		
Staff Room	1			300	300	,		yes
Maintenance Shop	1			300				yes
Custodial Storage	1			850				yes
Miscellaneous Storage	1				300			yes
Residential Storage						3,850		
Trunk Rooms, one per res. group?	3			700	2,100	0,000		yes
Linen Room	1			700	750			yes
General Storage	1				1,000			yes
Secure Bike Parking (ground level)	5	45	225	20			City code	covered outd

	-
was 2,500 s.f.	ļ
	S.f.
or cages 4500	S.f.
	s.f.

RESIDENCE GROUP #1 (of three total)							22680	
Residence living room	1	100	100	1,200	1,200	1,200	22000	
	1	100	100	1,200	1,200	1,200		
Residential Hearth #1						7,160		
Resident entry	1			100	100	7,100	was 200 s.f.	
Resident hearth	1			300	300		Wd0 200 0.1.	
Double resident room	22	2	44	225			up to 22 doubles	
Single resident room	2	1	2	145				
Shared bathrooms, janitor	2		~	700				
Ancillary storage & laundry	1			120				
Anchary storage & laundry				120	120			
Residential Hearth #2						7,160		
Resident entry	1			100	100			
Resident hearth	1			300	300			
Double resident room	22	2	44	225	4,950			
Single resident room	2	1	2	145				
Shared bathrooms, janitor	2			700				
Ancillary storage & laundry	1			120	120			
Residential Hearth #3						7,160	155.65217391	
Resident entry	1			100	100	.,		
Resident hearth	1			300	300			
Double resident room	22	2	44	225	4,950			
Single resident room	2	1	2	145	290			
Shared bathrooms, janitor	2			700				
Ancillary storage & laundry	1			120	120			
Thomary storage a ladiary				120	120			
RESIDENCE GROUP #2 (of three total)						22,680		
(same as group #1)								
RESIDENCE GROUP #3 (of three total)						22,680		
(same as group #1)								
			total NAS	F		92,400		
			total GS	F @	65%	######		
total beds		414						
gross area per bed		343						
3 • • • • • • • •								
potential basement total nsf						7,000		
gsf basement @	65%					10,769		
gsf above ground						131,385		
may factorist of first flast alamasta						20.040		
max footprint of first floor elements						32,246		
based on upper floor footprint of	1					34,892		
